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Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het 
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op. 

Tekst 1  Sentencing drivers 

1p 1 What does John Sutton want to make clear in this letter? 
A He feels that drivers charged with dangerous driving get off too lightly 

in court.  
B He has noticed that not all magistrates interpret the law in the same 

way. 
C He has observed that the man in the street fails to understand some 

court sentences. 
D He has realized that practical knowledge of the law is fundamentally 

overvalued. 

Tekst 2  How to be a TV tourist 

Vijf van de onderstaande woorden/woordgroepen (a tot en met g) zijn uit 
de tekst weggelaten (zie 2-1, 2-2, 2-3, 2-4 en 2-5 in de tekst). 

3p 2 Geef bij elke plaats aan welk van de woorden/woordgroepen daar hoort. 
Noteer de letter van het woord/de woordgroep achter elk nummer op het 
antwoordblad.  
Let op: er blijven twee woorden/woordgroepen over. 
a big hubs 
b details of daily life 
c exceptions 
d overseas stories 
e regional dialects 
f subtitles 
g woolly jumpers 

Tekst 3  The Shoemaker’s Holiday 

1p 3 In welke zin geeft Michael Billington kritiek op de inhoud van het 
toneelstuk The Shoemaker’s Holiday, zoals geschreven door Thomas 
Dekker? 
Citeer de eerste twee woorden van deze zin.  
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1p 4 Geef aan of de volgende beweringen overeenkomen met het oordeel van 
de recensent Michael Billington. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
1 Phillip Breen’s interpretation of Dekker’s comedy lacks historical 

context. 
2 Phillip Breen’s interpretation of Dekker’s comedy creates a vision of 

the world which is both painful and funny.   

Tekst 4  How to find true love 

1p 5 What do paragraphs 1 and 2 make clear about dating? 
A Dating obstacles remain the same even though circumstances have 

become different. 
B Modern etiquette says it is impolite to inquire about salary on a first 

date.  
C The approach to meeting potential partners has changed drastically 

over time. 
D The new rules for dating can be traced back to ancient romantic 

traditions.  

“‘I do it,’ said Mr Russel.” (paragraph 3) 
1p 6 What is Mr Russel referring to? 

A creating a fake social media account to increase the chance of making 
a good first impression 

B increasing his chances of finding his significant other in a virtual 
singles environment 

C looking up information on a date on the internet before actually 
meeting in person 

D removing as much information about himself from the internet as 
possible 

“Now it is the tendering of a family name that is a significant moment.” 
(alinea 4) 

1p 7 Is dit element al eerder in de tekst aan de orde geweest?  
Zo nee, antwoord “Nee”. Zo ja, citeer de eerste twee woorden van de zin 
waarin dit gebeurt. 

1p 8 Which of the following fits the gap in paragraph 5? 
A There are several arguments in favour of this new dating rule. 
B Using first names only comes with drawbacks. 
C Yet young people encounter sexual harassment all over the world. 


